— Bt EEABARTYRR—ILY—5

NG WY
F18EBAXIVFR—W)—=T vhVERT— E118

JFL:

BFIyhR—ILU—T

DAIERSR =YY

Yyh—T7

SEU—DOFASZEVEDIC!

B B {20164 10828(R) 13:00 HAMH05 IR IFANYREDT L, EHE
X & B & R 1232°C 32 B 44% A i3 EvF(E) (2ERE EyF(ERE) 818
TyFaIviaF—iiEN £ * B iR EER BE2) LB RE EEEEIER BT B/EY
BHT7Evd— i TH 2 Bl 1 HE B wosnaifEH 2 EEELIFNL FE 5,028 A
s 14—14 s 8—11 ]
(h—LF—L) 0 BT % 1 (ESH—F—L)
Jro5—LN\RF 0 0 & % 1 2 MIOU'H il
KICK OFF
T 2a—h B . ||| & . ) 2a—Fh ZH
No. | OUTHE&S %ig | = RF A S|E|E|® RFA Rt anis OUTESFS: No.
0 Ho BA 33| GK| GK| 31|k = #4# 0
0 [EH #hix 4|DF|DF| 6|#tE i#AXER (Cap.) 0
0 B3 #hth (Cap.) b|DF|DF| 19|X# A 0
1 1 £H EX 14| DF| DF | 32|fEE #EX 1 1
0 Ak &5 21| DF|DF| 34| A{RHE B3l 0
0 EH EH 8|MF|MF| 10|55 &t 2 2 8645
1 1 Al 8 10| MF|MF| 16{ 4+t 5T 2 11 814
16% 0 =R BEX 18| MF|MF| 23|[RO Xk 2 2
605> 0 ERK R 19|MFIMF| 24|B80 EA 1 1 185
684 11 ATE #& 22| MF|MF| 37|/l dt3k 0
20 2 £ EBER 11| FW|FwW| 18| Atk BB 2| 3 2 1
IR B= 1|GK|GK| 1|8k Rt
ILIkF &3 20| DF|DF| 13| B EA
RER 2| MF| DF| 27|R &8k 0 24
FE RS 7|MF|MF| 20|/RE 5= 0 16
22 0 = g 9| FW|MF| 26|55 5%iK 0 10
19 1 1 EtEAET 17/ Fw
18 0 IR Eth 29| Fw
24 R EE EE 24 - R5
45| = | 18R BX RAR-y|ER —{= O R
IN| B S SRy 4 ar ar 4
90+14% =33 EEP E_E.x/l:l RAR =Y lﬁ E'g FLAE E;_LJ l'%
3 3 6/ Ya—k 11 4 7
6 4 10 GK 7 700
2 2| 4 CK 8 2 6
6i 8 14 EIEFK 17| 8 9
0 2 2 RIEFK, 2| 0 2
0 2 2N 2| 0 2
0 0 0 PK 20 11
BEEEN| BAF—L4 | No. BEE 237 |[BEEBE BEH: ~FUIJ)L —>I0/8R 1 :FSE/IR xR S:Ya—k HAT LY
295 moubhouE| 18I AR BiE 0—1 | & 23 ~ ik} - 18 | AR@S | MFFP [ZIFNHK 18
299FLL kT ERS
90+2% [Mmouho | 181 AR BIE 0—2 | ths-1i PK 18 | AES
(G & RFRE] BIH47:03(2:03) . £349:11(4:11), HEFTERFRT 1:50:56
[fm&]

X (A THAR) ORIZZ. EFKDSS . FF—LDATHAFIZLSHE. RRLTVET,



